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public class IfElse {
public static void main(String[] args) {
if (args.length < 1) {
System.out.println("missing arguments!");

}
else {
int num = Integer.parselInt(args[@]);
if (num % 2 == 0) {
System.out.println("*");
}
else { //#it#
if (num % 5 == 0) {
System.out.println("**");
}
else {
System.out.println("***");
}
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}
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public class SwitchCase {
public static void main(String[] args) {

int grade = 80;

switch (grade) {

case 100:
System.out.println("A+");
break; //*

case 90:
System.out.println("A");
break; //*

case 80:
System.out.println("B");
break;

case 70:
System.out.println("C");
break;

case 60:
System.out.println("D");
break;

default:
System.out.println("F");
break;

}
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public class While {
public static void main(String[] args) {
int cnt = 5;
while (cnt > 0) {
System.out.println(cnt);
cnt--;

}
}
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public class DoWhile {
public static void main(String[] args) {

int cnt = 5;

do {
System.out.println(cnt);
cnt--;

}

while (cnt > 0);

}
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for (int i = 0; 1 < 10; i+¥) {
System.out.println(i);
¥
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int i = 0;

while (i < 10) {
System.out.println(i);
i++;

}
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public class For {
public static void main(String[] args) {
int sum = 0;
for (int 1 =0, j =5; i <5; i++, j——-) {
sum += i *x j;
}

System.out.printin(sum);
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double[] arr = { 1.0, 2.0, 3.0, 4.0, 5.0 };
double sum = 0.0;
for (int i = @; i < arr.length; i++) {
sum += arr[i];
}

System.out.println("arr sum is: + sum);
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for (double d : arr) {
sum += d;
}

712027 D3NN 1 TP QYR TINRA (NOKRYPI IRDIPT YW quwon annan oxva for each 7 nRMY
T2 MR WHRD TNYA 7O IN0IW P00 17 WO 1212 (abstraction) UwOY 7210 XNNT O ORI
(Twnn 9y 9%apn Navn ,5wn?) norLp for NRI9N N Y




2R TP AW TN

double[] arr = {

double sum = 0.09;

for (double d : arr) {
d = 0;

}

1.0, 2.0, 3.0, 4.0, 5.0 };
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public class BreakContinue {
public static void main(String[] args) {
for (int i = 0; i < 5; i++) {
if (1 == 3) {
break;

}
System.out.println("*:

+ 1i);

}

for (int i = @; i < 5; i++) {
if (i == 3) {
continue;

}

System.out.println("**:

+ 1);
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public class BreakContinue2 {
public static void main(String[] args) {
for (int i = 1; i < 5; i++) {

for (int j = 1; j < 5; j++) {

/* if (i*] >= 9) {
break;

3*/
System.out.print(i*j + "\t");

}

System.out.println();
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